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Exercises

1. Read the following and try to finish reading each phrase at a
single glance. Make your eyes move across the page with a
smooth,even rhythm. ‘

1. Successful improvement \ of your reading \ depends upon
your eagerness to improve \ and your willingness to practice. \
Your teacher \ can guide you, \ but only you \ can do your own
reading. \ No one else \ can do it \ for you.

2. Canada’s native population \ consists of two groups,\ the
Indian \ and the Eskimo. \ Both groups \ are thought to have
crossed \ from Asia \ by way of the Bering Sea \ several thou-
sand years \ before the arrival \ of Europeans \ in North
America.

3. \In 1976 \ the United States \ landed two spacecraft \ on
the surface \ of Mars. \ The landers have devices \ to perform

- chemical analyses \ of the soil \ in search of evidence \ of life
on the planet. \ So far, \ however, \ the results \ have been
inconclusive.

4. Four hundred years ago \ nothing like a modern telescope
\ existed. \ Then spectacle makers in Holland \ noticed that \
when certain lenses \ were used in pairs \ at the right distance
apart,\ they magnify (B{X) things.

The first man \ to make a powerful microscope \ was a

Dutchman \ named Leeuwenhoek, \ who was born in 1632. \ His

instruments \ could magnify things \ to three hundred times \

4



their actual size.

II. Skim the following passage and choose the best answer to the
question.

In an experiment, several people were put in an airtight
room. The air soon became warm and moist. The amount of car-
bon dioxide increased,and the amount of oxygen decreased. Ev-
eryone felt very uncomfortzble. Then. without letting in any
fresh air,an electric fan was turned on. Almost as soon as the air
was set In motion,everyone hecame comfortable again.

F'hese experiments and rmany others show that the moisture,
temperature and movement of indoor air are of more importance
than the amount of oxygen or carbon dioxide that it contains. Air
that contains a little less than the usual amount of oxygen is not
dangerous to breathe.

Without proper ventilation G JX) , the air of a room in winter
may become as dry as that of the Sahara Desert. In very dry air
the temperature must be 80 degrees Fahrenheit or more before we
feel warm enough. Dry air causes the skin and the linings of the
nose, throat. and air tubes tu become dry. When this happens ,
germs are able to break through these linings very easily.

‘The best title for this seiection would be .
(A) Air Around Us (B) Indoor Air
(C) Pollution (D) Oxygen and Carbon Dioxide

HI. Read the following questions and then scan the passage below
looking only for the information needed to answer them.

1. When did the Seven Years War end? ( In )

2. How big was the French population at the end of this war?
(About ___ )

3. What law was passed in 17747 - )

4. Which law is the basis of Q:iebec’s criminal law,English law or
French law? (_ )




The war which forced France to give up all her claims in
Canadastarted m 1756. This war, known as the Seven Years
War,ended with the signing ot the Treaty of Paris in 1763. By
this treaty.England was recoguized as the only colonizing power
of all of North America east of the Mississippi. The French popu-
lation , which numbered around =ighty thousand at this point,now
all came under British rule.

In order to win the confidence and gain the loyalty of the
French settlers in Canada, the British government passed the
Quebec Act in 1774. By recognizing the Catholic Church, the
Quebec Act assured the settlers of religious freedom. It also sat-
isfied the settlers by retaining French civil law for all civil cases.
However, English criminal law was introduced for all criminal
cases. This continues to be the hasis of the law in the province of
Quebec, whereas the law in the rest of Canada is based solely on
the English system.

IV. Read each of the following sentences carefully and choose the
answer that is closest in meaning to the original sentence.

1. The F-15,the replacement for the now outmoded F-14,can fly

over 200 miles per hour faster than the older model.

(A) The F-15 can fly at over 200 miles per hour.

(B) 200 miles per hour faster than its predecessor ,the F-15 has
replaced the F-14.

(C) The F-14 was able to outmode the F-15,though the F-15
flies faster.

(D) The older model F-14 was flown over 200 miles per hour
though not as fast as the replacement F-15.

2. A limited number of students with bachelor’s degrees from ac-
credited (L FH)) colleges or universities will be selected for
the program.

6



(AJ A few selected studesits will hold degrees from accredited
colleges or universities.

(1) An accredited college or university will select a few stu-
dents who hold degre=s.

(C) A few students who lold degrees will select an accredited
college or university.

([3) The program will inciude a few students who hold degrees
from accredited colleges or universities.

. Childien that grow up in poverty tend.on the average,to do

poorly on rests of intellige nce.

(A) Children reared in poor families are generally not as intel-
ligentas rich children

(B) Behind the poverty trend is an assumption that children
are stupid.

(C) Children from poor families have a tendency to achieve low
scores on intelligence tests.

(D) Intelligence tests are poorly administered to children with
a poor background.

. Parents have become increasingly concerned about the televi-
ston viewing habits of their children--so much so that families
are beginning to censor (# # ) the programs that enter their
homes.

(A) Families watch television together more often now than in
the past so that they can decide whether shows are desir-
able or not.

(B) Families with televisions are not as close as families with-
out televisions because the former argue more about pro-
gram choices.

(C) Although parents werry about the programs that their
children watch, they find it very difficult because censor-
ship is not what it used to be.

(1)) Because of their concern over the television programs that

7



are aired ,many parents are deciding which programs they
will allow their children to watch.
V. Read the following passage and choose the best answer to each
question.

The most amazing thing about education in the United States
is the number of avenues of reentry it offers. The doors are never
closed. People of any age and in any location may pick up again
where they left off. A large part of those who receive college de-
grees had interrupted their studies for a time and returned to take
them up once more. Many ways are open for continuing education
outside the regular school system. Members of the armed forces
may enroll in correspondence courses to complete high school or
college work. Every department in the federal government pro-
vides opportunities for employees to take courses. There are 35,
000 private schools which offer courses for adults in trades and
other interests. These pathways for beginning again are open to
everyone and millions of Americans follow them every year.

1. The best title for the passage is
(A) College Education System
(B) College Education in the Army
(C) Continued College Study in the Army
(D) Opportunities to Continue College Study

2. Which of the following statements is true?
(A) Most people like to interrupt their studies and return to
school later.
(B) The U.S. government provides many kinds of education
for its people.
(C) The officers and employees hardly have any opportunity
to study.
(D) Only white-collar workers can pick up correspondence
courses.
3. It can be inferred from the passage that _

8



{A) soldiers may enter any colleges in the United States
(B) soldiers may study i the department of the federal gov-
ernment
() soldiers may continue their studies in the army college
(1)) soldiers may take courses of academic study while they
are working in the army
4. the author’s attitude towards education in the United States
may be best described as .
(A) praising (B) strongly opposed
(Cindifferent (D) not clear

5. In line 2,“avenues of reentry” means
(A) regular school systera
(B) amazing location
(C) opportunities to begin again
(D) correspondence courses
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How To Grasp The Main Idea

} AL (the Main 1de ) B BF L B RUEE E X E
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At
m"‘ H
Directions : Choose the most general word.

(A chemist
(B) physicist
(C) scientist
(D) Dbiologist
BB B e R A AR YL 091, (C) scientist HoBE.H
HEMHET chemist,physicist #l biologist , i (A), (B)F (D) #
BR-ABFHOBER, FEMEREME. B, scientist &
BREE.
il
Directions ; Choose the most general sentence.
(A) The hotel offers complimentary coffee from 7 to 10 a.
m. daily.
(B> There are many reasons why guests feel at home at the
Glorietta Bay Inn.
(C) The coin-operated laundry room has an ironing board.
(D) There are a number of extra services at the Glorietta
Bay Inn including baby sitting.
CAY - (T, Dy HRE A A 00 8 P i T g MR 5 480 L 4
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Directions : Choose the main idea of an article. (Following are the

topic sentences of an article. }

1) A mounting body of evidence suggests that fighting vio-
lence with violence rarely steps a crime in progress and greatly in-
creases the chances of changing a robberv into a violent attack on
the victim. ...

2) One report shows that at least 100 thousand handguns are
stolen from private owners each year, the vast majority during
burglaries. . .

3) Moreover,a study of robberies in eight American cities
states that in less than 4 percent of the crimes did the victim have
the opportunity to use a weapon. ...

Which of the following best reflects the main idea of the arti-
cle?

{A) What Happens to tle Victims of Crime?

(B) 1s Your Family Safe?

(C) Should You Arm Yourself Against Crime?

BB ZBIRIT victims (REH) B ZBHRIT A
EfTYL. AR CRENGANERANRS N ERY DR
MR AALRIT N . FILRAER () A BEBIER =B £ R i
£ T 1B 0, 3K . ST g oo BB A

o RS RUSIREAE 20 35 M REAS SCoP BT R R TR B
B ARUBELINZ HREUREAE. B, &7
SCH B R 2
Py .

Directions : Read the following passage and choose the best central
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